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Socialization takes place :

(A) During childhood | - (B) During young age

(C) During the whole life (D) At different intervals

Who among the following have developed the concept of Folk-Urban continuum?

(A) Simmel (B) H.Maine

~(C) R. Redfield (D) F. Tonnies

Which part of the Rigveda has given only four castes called Varnas?

(A) Purushsukta (B) Suruti

(C) Vaisakha (D) Mimamsa

The st,atéhood demand for ‘Gorkhaland’ is in which of the following Indian state
(A) Assam : (B) West Bengal

(C) Mizoram | ' (D) Nagaland

Data collected from the published booke are called

(A) Primary data ) (B) Secondary data

(C) Tertiary data (D} None of the above

Durkheim classified society into

(A) Mechanical and Organic (B) Open and Closed
(C) Literate and Illiterate ~ - (D) Small and Large
A pressure group is generally referred to a/an

(A) Ethnic group ‘ (B) Informal group .
(C)V Special interést group | 7 (D) Caste group

The main provisioh «f the Sixth Schedule of the Coﬁstituﬁon of India deals with
{A) Reservation in the gdvernment jobs

(B) Preservation of tribal laws '

(é) Autonomy in administration in the tribal areas of North- east India

(D) Reservation in educational i;lstitutions
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10.

11.
12,

13.

14,

15.

16.

17.

18.

Largest component of internal migration in India is

(A) Rural urban migration (B) | Urban rural Migkation

{(C) Marriage migration. ' (D) rural migration

The tribe ‘Tamang’ is mostly found in which of following Indian state

(A) Nagaland S (B) Uttarakhand

(C) North Bengal & Sikkim ®) Mizoram

Students sajring ‘Good Morning’ to the teacher is an example of :

(A) Morals  (B) Mores (©) Laws D) Folkways
The terms ‘Backward Class’ is used in which article of the constitution of India?
A) 15(4) (B) 16(4) © 174 D) 23(4)
Prejudice and feelings of cultural superiority give rise to:

(A) Assimilation (B) Mobility

(C) Terrorism (D) Ethnocentricism

“People who live close to one another, who interact with one another frequently and
who feel they have some common traits or values they share with one another”
constitute : ' ‘ ‘ ‘

(A) Social group . (B) Social institution

~(C) Association. : (D) Community

A system under which a women is permitted to inarry a person of the lower caste but
vice versa is not allowed is known as:

(A) Hypergamy (B) Hypogamy
(C) Promiscuity (D) Polygamy

Who among the following did give the suggestion of National Park to the Government
of India for tribal development in India?

(A) G.S. Ghuriya _ ' {B) D.N.Majumdar

(C) N.K. Bose (D) Verrier Elwin

There are three stages of development of Society, namely savagery, barbarism and
civilization, according to: '

() Darwin = (B) Morgan (Q) Spencer (D) Bachofen
When cultural traits spread from one society to another, the process is called
(A) Diffusion - ' (B) Parrallelism (C) Evolution (D) Pluralism
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19. A cluster of related traits is called ,
(A) Culture norms ('B) Culture complex
(C) Cultural collectivity (D) Cultural uniformity

20. Uncle is an example of _
(A) Classificatory term ‘ (B) Descriptive term
(C) Expected behavior - . (D) Rolerelation

21. “Man is a social animal” who said this? ,
(A) Aristotle (B) Cristo {C) Spencer D) Plgto

22. “Society is a consciousness of the kind” is the definition of. .
(A) Giddings (B) Davis (C) Plato (D) Aristotle

23. Sociology “attempts the interpretative understanding of social action” who said so?

(A) Maclver (B) Max Weber (C) T. Abel (D) W.F. Ogburn
24. From among the following who was the pioneer of the Trade Union Movement in

India? . '

(A) Mahatma Gandhi 7 (B) V.V.Giri

(C) Dutta Samanta (D) 8.A.Dange

25. “The Holy Family” is the work of _
(A) R.D.Laing (B) T.Parsons
(C) Karl Marx _ (D) Emile Durkheim

26. The policy of Laissez faire is associated with .
(&) Karl Marx (B Adam Smith
(C) David Ricardo | (D) Baden Powel

27.  Book “The Social Background of Indian Nationalism” is written by:

(A) A.R. Desai (B) Patrick Geddess
(©) G.S. Ghurey : ‘ (DY A.M. Shah
28. 'The discipline of Sociology is systematic study of : |
(A) Individual behaviour i (B) Human society
(C) The myth of gender (D) - Symbolic Interaction
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31.

32.

33.

34.

35.

36.

37.

Marriage is a

(A) ‘Folkway : - (B) Mores

(C) Social Institution (D) Social Norm
Who has classified between primary, secondary and tertiary kin?
(A) Murdock (B) Morgan

(C) Westermarck (D) Parsons |

Which one of the following is not a characteristic of a state?

(A) Law and the use of force (B) Terﬁtory

(C) The political apparatus D) | Ethnicity

Mafx considers conflict as | |

(A) pathological and harmful (B) the engine of progress
(C) as an uncreative force | (D) away of life

Synthetic or general school of Sociology is headed by

(A) Auguébe Comte : (B) Herbert Spencer
(C) Emile Durkheim (D) W. Pareto

Who can be labeled as a ‘Historical Sociologist’?

(4) Pareto | | ®B) Karl Marx

(C) Max Weber ' : (D). Tonnies

For Durkheim, sbciety is

(A)  Sui - generis ' (B) Functional to individual

(C) Abiological fact - _ (D) An empirical concept
A peaceful co-existence of distinet ethnic group in a society is called:
@) Integration (B Assimilation

- (C) Amalgamation (D) Cultural Pluralism

A social group, usuélly with definite area, dialect, cultural homogeneity, and unifyihg
social organisation is termed as:

(A) acaste (B) atribe
© aélaés o o . (D) peasantry
B 364




38.

39.

40,

41.
42,

43.

44.

45.

46.

364

. Who gave the name ‘Harijans’ to the untouchables?

(A) Indian Constitution : (®) Risley
(©) M.XK. Gandhi D) G.S.Ghurye

The application of evolutionary notions and the concept of the "survival of the fittest"
to society is called:

(A) Class conflict (B) Dialectical Materialism
(C) Social dynamics - (D) Social Darwinism.

The theory of development which suggests that societies move from traditional to
modern, industrial forms of organization is called:

(A) Westernization theory _ (B) Modermization theory

(C) Industrialization theory (D) Dependency theory

'Find the odd word out —

(A)  Cotton (B) Terene ©) Silk ®) Wool

As ‘Man’ is related to ‘House’, in the same way ‘Cow’ .is_related to what?
(A) Den (B) House (C) Cave (D) ‘Cow — Pen

If the following series is written in reverse_order and then all the vowels are deleted,
which will be the 8t letter from the right in the new series?

@ L ® H © K o

Cat : Kitten :; Sheep : ?

(A) Raven (B) Colt (C) Lamb (D) Filly
Bunch : Ke_y n?
(A) Bouquet : Flower , (B) Examination : Subject

(C) Team : Competition (D). Hound: Pack
As 425 is related {o 2, in the same way 613 is related to —

A 1 B 32 © 3 - (D) -4
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50.

51.

52.

53.

b4.

55.

56,

Directions (Q 47 — 51): Read the followmg information carefully to answer these
questions:

All the six members of a family A, B, C, D, E and F are travelling together. B is the
son of C but C is not the mother of B. A and C are a married couple. E is the brother
of C. D is the daughter of A. F ia the brother of B.

How many male members are there in the family?

@ 1 . ® 3 © 2 o 4

Who is the mother of B?

@ D ® F © E . O A

How many children does A have?

(A) One (B) Two (C) Three (D) Four

Who is the wife of E? |

(A) A ’ (B) F ©) B | (D) None of these

How is E related to D?

(A) Father ' ~ (B) Brother

(C) | Uncle ' (D) cannot be determined

62, 73, 84, 95,7

(A) 106 - B i07 (C) 108 (D) 109
212x 217+ 815x 10 -5 x 47 =? _ _

(A) 47561 (B) 31117 (C) 48901 (D) 48919
1, 5, 10, 16, 23, 3i ........

(A) 38 (B) 50 (C) 39 D) 40

If in a certain language SISTER is coded as 535301 UNCLE is coded as 84670 and
BOY as 129, how will SON be coded? .

(A) 923 (B) 524 {C) 342 D) 872
J-B+D is equal to |
we . ®» 2 © 16 ® 12
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57.

58.

59,

60.

61.

62.

63.

64.

Ram is to the South of Aishwarya and to the west of Rani. If Priyanka is to the South

- of Ram, then in which direction is she with respect to Rani?

(A) South "~ (B) North-East
(C) South —- West (D) None

If a man covers 10.2 KM distance in 3 hours, the distance covered by him in 5 hours
i8

(A) 18km (B) 15km (©) 16km D) 17km
AQZL: DNCF : : ROSH : ? |

(A) URVK (B OLPE
(C) ORPK (D) ULVE
MAD: JXA :: RUN : 7

) 0sQ | (B) PRJ
© UXQ ‘ | (D) ORK

What is the name of India’s present Union Human Resource Development Minister?
(A) Arjun Singh | | "~ (B) Pranab Mukharjee
(Cy M.M. Joshi (D) Kapil Sibal

Which one of the following articles makes provxsmn for the reservation of SC/STs in
government services?

(A) 332 (B) 333 : (C) 334 (D) 335

Sardar Sarover dam is located on the river —

" (A) Ganga (B) Godavari (C) Narmada (D) Mahanadi
~ Plague is | |

(A) Bacterial disease ~ (B) Viral disease

(C)‘ Mineral deficiency disease . (D) Fungal disease

65.
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Which one of the following is not a parameter in Human development Indeﬁc?
(A) Infant Moftality_ (B) Life expectancy

(C) Social Inequality (D) Real per capifa income
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66.

67.

68.

69.

- 70.

71.

72.

73.

‘Atmospheric ozone layer which protects us from ultraviolet rays is getting hlghly

depleted because of -
(A) ChIoroﬂuoro carbons (B) Carbon monoxide
(C) Carbon dioxide (D) Sulphur dioxide

The Indian National Satellite system has facilitated —

(A) Telecommunication ' (B) T.V. broadcasting
(C) Cyclone warning (D) All of the above '
The Bhakhra Nangal Dam has been constructed across the river of —

(A) Rawvi (B) Sutlej (C) Beas (D) Yamuna

The basic application of Information communication technology in education is — -

(A) In relation to active participation in sharing of information
(B) In relation to vocational development of the teachers

(C) Inrelation to accessibility of éducation

(D) All of the above

Donacharya award is given to —

(A) Fire _ﬁghting operation

(B) Archery |

(C) Outstanding coaching in sports-and games

(D) Outstanding Coachingin Athlets

'The largest postal network in the world is in —

(A) USBA (B) China (C) India (D))

Which of the following is not associated with the UNO?

@) 1o B) WHO

(C) ASEAN ‘ (D) All of the above
PSLYV is the acronym of

(A) Polar Satellite Launch Vehicle
(B) Permanent Space Launch Vehicle
(C) Programmed Satellite Launch Vehicle -

(D) Periodical Satellite Launch Vehicle

Brazil
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81.
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83.

84.

85.
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The Paithan (Jayakwadi) Hydro-electric project, completed with the help of Japan, is
on the river ‘ :

(A} Ganga (B) Cauvery (C) Narmada (D) Godavari
Where is the headquarters of Amnesty International?

(A) Geneva | | (B) Hague

(C) NewYork (D) London

Networking of libraries through electronic media is known as
(A) Inflibnet {B) Libinfnet (C) Internet " (D) HTML
AF.S.PA. (1958) stands for '

'(A) Air Foree Special Power Act .(B) Armed Forces Special Poﬁers Act:

(C) Armed Forces Special Police Act (D) None of the above

Which of the following country has introduced ‘direct democracy’

(A) Russia (B) India (C) Switzerland (D) U.S.A.
Blue revolution is related to

(A) Fish Production _(B) Milk Production |

(C) 0Oil Production D) Food Production

The book ‘The Origin of Species’ was written by :

(A) Oparin (B) Darwin (C) Spencer (D) Haeckel

Directions (Q. 81 — 85): Pick out the most effective word from the given words to fill in
the blanks to make the sentence meaningfully complete.

You must your career with all seriousness.

(A) direct (B) complete (C) foliow (D) pursue
These medicines are __ for curing cold. '

(A) proper (B) real (C) effective (D) capable
Freedom and equafity are the rights of every human being.

(A) inalienable © (B) inscrutable

(C) incalculable : (D) institutional

I request you to your crime. |

(A) apologise (B) agree (C) confess . (D) pardon
lam forward to our picnic scheduled in the next month.

(A) seeing (B) going (C) looking (D) planning
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87.
88.
89,

90.

01.
02
93,
94,

95.

Directions (Q. 86 — 90): In each of the following questions a word is followed byr four

_options. You have to choose the option that is the most appropriate synonym to the

given word.

CANDOUR _

(A) Enthusiasm (B) Openness (C) Freedom (D) Intimacy
BASHFUL

(A) Haughty B) Di.screét | - (C) Shy (D) Upset”
PRUDENT L '

- (A) Courageous (B) Punctual (C) Careful | (D) Intelligent
RECTIFY |

{A) Correct (B) Clarify (C) Curious (D) Regularise
INSTIGATE =~ |

-(A) Initiate (B) Incite (C) Force (D) Cause

Directions (Q. 91 — 95): In each of the following questio'ns- a word is followed by four
options. You have to choose the option which is most opposgite in meaning to the given
word.

 TANGIBLE -

(A) Gentle (B) Elusive (©) Refined (D) Palpable
MUDANE | -
(A) Generous  (B) Reciprocal (C) Sublime (D) Earthly

' RELUCTANT | |

(A) Anxious (B) Excited (C) Pleased () Willing
JUBILANT

(A) Defeated (B) Excited (C) Penitent (D) Depressed
ARROGANT ‘ |

(A) Modest | (B) Obedient (C) Timid (D) Memorable

Directions (Q. 96 — 100): Read the followiﬁg passage carefully and answer the
questions given below.

Patriotism is a very complex feeling built up out of primitive instincts and
highly intellectual convictions. There is love of home, family and friends, making us
peculiarly anxious to preserve our own country from invasion. There is the mild -
instinctive liking for compatriots as against foreigners. There is pride, which is'bound
up with the source of the community to which we feel that we belong. There is a belief
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96.

97.

.98,

99.

100.

suggested by pride but reinforced by history, the one’s own nation represent a great
traditions and stands for ideals that are important to the human race. But besides all
these, there is another element, at once nobler and more open to attack, an element of
worship, of willing sacrifice, of joyful merging of the individual life in the life of the
nation. This religious element in patriotism is essential to the strength of the state,
since in enlists the best that is in most men on the side of national sacrifice.

A suitable title for the passage could be

(A) Eleme_ents of Patriotism '

(B) Hisiorical Developmer_lt of a Nation

(C) The Role of Religion and History in Patriotism

D) _Religion and Patriotism

Describing the element of worship ‘open to attack’, the author implies that it
(A) is unnecessary

(B) leads to national sacrifice

(C) - has no historical basis

{D) cannot be justified on rationai grounds

The tone of the passage can best be described as

(A) Criticalr ' (B) desmipti#e (C) persuasive (D) analytical

Which of the following can clearly be grouped under ‘intellectual convictions’ the
author mentions in the opening sentence? _

(A) Love of family o _ (B) . Love of compatriots

(C) The elements of worship (D) None of the above

Which one of the following statements is false? '

(A) Wetendto ﬁke our own countrymen better than we like foreigners

(B) Nations seldc){n stands for ideals that are important to the human race

(C) It is the religious element in patriotism that motivates us to sacrifice

ourselves for our nation

(D) Our pride of the community is bound with the community’s success.
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